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Table 2
b b
Cb Hogging Sagging ‘Hogging Sagging
<82 25475 - 28B.75 5.66 — 6.32%"°
.80 25 .00 — 28.00 550 - 6.16%
.78 24.25 - 27.25 5.34 w16 200
6 23.85 - 26.50 5.48 -~ 5.83
« T4 22,85 = 25.70 5403 ~ 563
w12 22.10 -24.90 4.86 - 5.48
.70 2135 -24.10 4.70 — 531
.68 20.65 =23.35 4,54 ~5.14
.66 12:.90 o 22 .80 4.38 ~4.97
.64 39420 ~21.80 4.22 -4.80
«62 18.45 ~ 21,105 4.06 -4.63
.60 Y7 .15 -20.30 3.90 - 4.47

*Minor modifications to Murray's values due to indepen-

dent conversion and extrapolation.
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MURRAY 'S APPROXIMATE CALCULATION OF MAXIMUM SHIP BENDING

MOMENTS AND SHEARING FORCES [7,13]

It is assumed that the maximum bending moment occurs
amidships
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Mmax = still water B.M. + wave B.M = MSW + MWA

Mow = WaSa — Babp = Wpdp — Bphg.
= %(WAgA + WFgF) = %(BAhA + Bphp) Approximately

= mean mt. of wt. - mean mt. of buoyancy = My - MB.

MW may be found from weight data. MB is given
approximately by Mp = a WL/2

W= A Table 1
Draft a
Values of a can be .06L .179Cb + .063
found from Table 1 .05L .189Cb + .052
in which Gy = block .04L .199Cb + .041
coefficient at .06L .03L .209Cb + .030
draft
Meon = bBL3x107® for a wave height of L,/20 or
= b'BL2"1/24107¢ for a wave height of 1.1/L,

Values of b or b' are given in Table 2 and are
for a draft of .06L. For drafts of .05L and
.04L, these values must be multiplied by .94 and
.88 respectively. The block coefficient, Cb’ for
Table 2 is that for the load draft.





